# Multiple positive solutions for a nonlinear elliptic equation in weighted Sobolev space 

Amira Obeid


#### Abstract

In this paper, we consider the problem $\left(\mathcal{P}_{\lambda}\right)$ in the setting of a weighted Sobolev space $W^{1, p}(\Omega, \omega)$, where $\omega$ is a weight function defined on the unbounded domain $\Omega$. The study is based on the variational methods and critical point theory. We show the existence of at least two nonnegative solutions, one with negative energy, the other one with energy which changes sign at a certain value of the positive parameter $\lambda$.


## 1 Introduction

In this paper, we are concerned with the problem of finding positive solutions to the following equation satisfied by the unknown scalar function $u$ :

$$
\left(\mathcal{P}_{\lambda}\right) \begin{cases}-\operatorname{div}\left(|\nabla u|^{p-2} \nabla u\right) & =f(x)|u|^{r-2} u \text { in } \Omega, \\ |\nabla u|^{p-2} \nabla u . \mathbf{n}+a(x)|u|^{p-2} u & =\lambda b(x)|u|^{q-2} u \text { on } \Gamma\end{cases}
$$

where $p<N, 1<q<p<r<p^{*}=\frac{N p}{N-p}, \mathbf{n}$ is the unit outward normal vector on $\Gamma$, $f: \Omega \longrightarrow \mathbb{R}, a, b: \Gamma \longrightarrow \mathbb{R}$ are given functions and $\lambda$ is a real parameter. Here, $\Omega$ denotes an unbounded domain with noncompact and smooth boundary $\Gamma$.
This type of boundary value problems arises in a variety of situations: In the theory of nonlinear diffusion, in particular in the mathematical modeling of non-Newtonian

[^0]fluids. For a discussion of some physical background, we refer the reader to [9]. From variational point of view, solutions of $\left(\mathcal{P}_{\lambda}\right)$ are critical points of the corresponding functional $J_{\lambda}$ defined by:
$$
J_{\lambda}(u)=\frac{1}{p} \int_{\Omega}|\nabla u|^{p} d x+\frac{1}{p} \int_{\Gamma} a(x)|u|^{p} d \sigma-\frac{\lambda}{q} \int_{\Gamma} b(x)|u|^{q} d \sigma-\frac{1}{r} \int_{\Omega} f(x)|u|^{r} d x .
$$

For unbounded domains with noncompact boundary, the arguments which can be used in the bounded case break down because of losses of compactness. This difficulty can be illustrated by the following: neither the embedding $W^{1, p}(\Omega) \hookrightarrow L^{r}(\Omega)$, nor the trace operator $W^{1, p}(\Omega) \hookrightarrow L^{q}(\Gamma)$ is compact. So to overcome it, we use a weighted Sobolev space as a variational framework of the problem.

The study of existence when the nonlinear term is placed in the equation has received considerable attention. For the Laplace operator, see for example $[2,6,8]$. Also see $[3,4,5,11,13,16]$ for the $p$-Laplacian. However, nonlinear boundary conditions have only been considered in recent years, see for example $[6,7,11,14$, 15, 16]. In [16], the author considered a similar problem to $\left(\mathcal{P}_{\lambda}\right)$. After using the mountain-pass lemma, he proved that there exist at least two nonnegative solutions, one with positive energy, the other one with negative energy. Recently in [11], the author studied a problem with parameter in a bounded domain, namely the $p$ Laplacian with concave and convex nonlinearities on the right hand side in the equation. He showed the existence of two nonnegative solutions, the energy of the first is negative while the energy of the second changes sign at a cetain value of the parameter.
Here we consider problem $\left(\mathcal{P}_{\lambda}\right)$ in the unbounded domain $\Omega$. Our results extend the corresponding results of [11] for a bounded domain. Even, they are generalizations for those of [16]. More precisely, our existence and multiplicity results are nonlocal with respect to the parameter $\lambda$. At the same time, our approach does not use the mountain-pass lemma.

The paper is organized as follows: In section 2, we set up the variational framework of the problem. In section 3 we verify that the functional associated to the problem $\left(\mathcal{P}_{\lambda}\right)$ satisfies the Palais-Smale condition. Section 4 is devoted to the behaviour of the energy corresponding to the positive solutions.

## 2 Variational setting

Let $1 \leq p<\infty$. For a nonnegative measurable function $\omega$, we define the weighted Lebesgue space $L^{p}(\Omega, \omega)$ by all measurable functions $u$ which satisfies $\int_{\Omega} \omega|u|^{p} d x<$ $\infty$ and associate with it the norm $\|u\|_{0, p, \omega}=\left(\int_{\Omega} \omega|u|^{p} d x\right)^{\frac{1}{p}}$. The weighted Sobolev space $W^{1, p}\left(\Omega ; v_{0}, v_{1}\right)$ is defined as the space of all functions $u \in L^{p}\left(\Omega, v_{0}\right)$ such that all derivatives $\left(\frac{\partial u}{\partial x_{i}}\right)_{i=1}^{N}$ belong to $L^{p}\left(\Omega, v_{1}\right)$. Equipped with its natural norm

$$
\|u\|_{1, p, v_{0}, v_{1}}=\left(\int_{\Omega} v_{0}|u|^{p} d x+\int_{\Omega} v_{1}|\nabla u|^{p} d x\right)^{\frac{1}{p}},
$$

$W^{1, p}\left(\Omega ; v_{0}, v_{1}\right)$ is a Banach space. Here, we investigate the properties of $W^{1, p}\left(\Omega ; v_{0}, v_{1}\right)$ via the following lemmas.

Lemma 1. (cf. Kufner \& Opic [12], Pflüger [16, 17]). Let $1 \leq p \leq r<$ $\infty, \alpha, \beta \in \mathbb{R}$ and $\Omega$ is an unbounded domain in $\mathbb{R}^{N}$ with noncompact and smooth boundary $\Gamma$. We denote

$$
v_{0}(x)=(1+|x|)^{\beta-p}, \quad v_{1}(x)=(1+|x|)^{\beta}, \quad \text { and } \omega(x)=(1+|x|)^{\alpha} .
$$

1) The embedding of $W^{1, p}\left(\Omega ; v_{0}, v_{1}\right)$ into $L^{r}(\Omega, \omega)$ is continuous respectively compact if and only if

$$
\begin{equation*}
\frac{N}{r}-\frac{N}{p}+1 \geq 0 \text { and } \frac{\alpha}{r}-\frac{\beta}{p}+\frac{N}{r}-\frac{N}{p}+1 \leq 0 \tag{1}
\end{equation*}
$$

respectively

$$
\begin{equation*}
\frac{N}{r}-\frac{N}{p}+1>0 \text { and } \frac{\alpha}{r}-\frac{\beta}{p}+\frac{N}{r}-\frac{N}{p}+1<0 . \tag{2}
\end{equation*}
$$

2) The embedding of $W^{1, p}\left(\Omega ; v_{0}, v_{1}\right)$ into $L^{r}(\Gamma, \omega)$ is continuous respectively compact if and only if

$$
\begin{equation*}
\frac{N-1}{r}-\frac{N}{p}+1 \geq 0 \text { and } \frac{\alpha}{r}-\frac{\beta}{p}+\frac{N-1}{r}-\frac{N}{p}+1 \leq 0 \tag{3}
\end{equation*}
$$

respectively

$$
\begin{equation*}
\frac{N-1}{r}-\frac{N}{p}+1>0 \text { and } \frac{\alpha}{r}-\frac{\beta}{p}+\frac{N-1}{r}-\frac{N}{p}+1<0 . \tag{4}
\end{equation*}
$$

Remark 1. In the remaining of this text, for $\alpha_{1}, \alpha_{2} \in \mathbb{R}$, we introduce the weight functions $\omega_{1}(x)=(1+|x|)^{\alpha_{1}}$ and $\omega_{2}(x)=(1+|x|)^{\alpha_{2}}$. The last theorem leads to the following:
(i) $W^{1, p}\left(\Omega ;(1+|x|)^{-p}, 1\right)$ is compactly imbedded into $L^{r}\left(\Omega, \omega_{1}\right)$ for $\alpha_{1}<-N+\frac{r}{p}(N-$ $p)$ and $p<r<p^{*}$.
(ii) $W^{1, p}\left(\Omega ;(1+|x|)^{-p}, 1\right)$ is imbedded into $L^{p}\left(\Gamma, \omega_{2}\right)$, continuously for $\alpha_{2}=-p+1$ and compactly for $\alpha_{2}<-p+1$.

Lemma 2. (cf. Pflüger [16]). Let $1<p<N$. There exists two positive constants $C_{1}$ and $C_{2}$ such that for any $u$ in $W$,

$$
\begin{equation*}
\int_{\Omega} \frac{|u|^{p}}{(1+|x|)^{p}} d x \leq C_{1} \int_{\Omega}|\nabla u|^{p} d x+C_{2} \int_{\Gamma} \frac{|u|^{p}}{(1+|x|)^{p-1}} d \sigma \tag{5}
\end{equation*}
$$

Proof. Since $\mathcal{D}(\bar{\Omega})$ is a dense space in $W$ with respect to its natural norm, then to establish this inequality, it suffices to prove it in $\mathcal{D}(\bar{\Omega})$. For this, for any $\mathbf{q}$ in $(\mathcal{D}(\bar{\Omega}))^{N}$ and $u$ in $\mathcal{D}(\bar{\Omega})$, we have the Green formula, i.e

$$
\int_{\Omega}(\mathbf{q} \cdot \nabla u+u \operatorname{divq}) d x=\int_{\Gamma} \mathbf{q} \cdot \mathbf{n} u d \sigma
$$

where $\mathbf{n}$ is the unit outward normal vector on $\Gamma$. Using this equality with $u$ is replaced by $\frac{|u|^{p}}{(1+|x|)^{p}}$ and $\mathbf{q}$ by $\mathbf{x}$, we obtain:

$$
\begin{equation*}
\int_{\Omega}\left(\mathbf{x} \cdot \nabla\left(\frac{|u|^{p}}{(1+|x|)^{p}}\right)+N \frac{|u|^{p}}{(1+|x|)^{p}}\right) d x=\int_{\Gamma} \mathbf{x} \cdot \mathbf{n} \frac{|u|^{p}}{(1+|x|)^{p}} d \sigma . \tag{6}
\end{equation*}
$$

On the other hand,

$$
\left|\int_{\Omega} \mathbf{x} \cdot \nabla\left(\frac{|u|^{p}}{(1+|x|)^{p}}\right) d x\right| \leq p \int_{\Omega} \frac{|u|^{p-1}}{(1+|x|)^{p-1}}|\nabla u| d x+p \int_{\Omega} \frac{|u|^{p}}{(1+|x|)^{p}} d x
$$

thus, by Hölder's inequality, we may write

$$
\begin{aligned}
\mid \int_{\Omega} \mathbf{x} \cdot \nabla & \left.\left(\frac{|u|^{p}}{(1+|x|)^{p}}\right) d x \right\rvert\, \\
& \leq p\left(\int_{\Omega} \frac{|u|^{p}}{(1+|x|)^{p}} d x\right)^{\frac{p-1}{p}}\left(\int_{\Omega}|\nabla u|^{p} d x\right)^{\frac{1}{p}}+p \int_{\Omega} \frac{|u|^{p}}{(1+|x|)^{p}} d x \\
& \leq p \varepsilon \int_{\Omega} \frac{|u|^{p}}{(1+|x|)^{p}} d x+p C_{\varepsilon} \int_{\Omega}|\nabla u|^{p} d x+p \int_{\Omega} \frac{|u|^{p}}{(1+|x|)^{p}} d x
\end{aligned}
$$

where $\varepsilon>0$ is an arbitrary real number. The previous inequality and (6) give us

$$
\begin{aligned}
N \int_{\Omega} \frac{|u|^{p}}{(1+|x|)^{p}} d x & \leq \int_{\Gamma} \frac{|u|^{p}}{(1+|x|)^{p-1}} d \sigma+p \varepsilon \int_{\Omega} \frac{|u|^{p}}{(1+|x|)^{p}} d x+p C_{\varepsilon} \int_{\Omega}|\nabla u|^{p} d x \\
& +p \int_{\Omega} \frac{|u|^{p}}{(1+|x|)^{p}} d x
\end{aligned}
$$

and

$$
(N-p(1+\varepsilon)) \int_{\Omega} \frac{|u|^{p}}{(1+|x|)^{p}} d x \leq \int_{\Gamma} \frac{|u|^{p}}{(1+|x|)^{p-1}} d \sigma+p C_{\varepsilon} \int_{\Omega}|\nabla u|^{p} d x
$$

The proof is complete.
In the sequel, $W$ will denote the weighted Sobolev space $W^{1, p}\left(\Omega ;(1+|x|)^{-p}, 1\right)$. It results from the Hardy-type inequality and the second assertion of Remark 1 that $W$ can be equipped with the norm

$$
\|u\|_{W}=\left[\int_{\Omega}|\nabla u|^{p} d x+\int_{\Omega} \frac{|u|^{p}}{(1+|x|)^{p-1}} d \sigma\right]^{\frac{1}{p}} .
$$

Throughout this work, we make the following assumptions:
(i) There are constants $c_{1}, c_{2}>0$ such that

$$
\frac{c_{1}}{(1+|x|)^{p-1}} \leq a(x) \leq \frac{c_{2}}{(1+|x|)^{p-1}} .
$$

(ii) There exists a constant $c_{3}>0$ such that

$$
0<f \leq c_{3} \omega_{1}
$$

(iii) $0<b \in L^{\frac{p}{p-q}}\left(\Gamma, \omega_{2}^{\frac{q}{q-p}}\right)$.

The first assumption leads to the equivalence between $\|u\|_{W}$ and

$$
\begin{equation*}
\|u\|=\left(\int_{\Omega}|\nabla u|^{p} d x+\int_{\Gamma} a(x)|u|^{p} d \sigma\right)^{\frac{1}{p}} \tag{7}
\end{equation*}
$$

So, $W$ endowed by (7) is a Banach space.

## 3 The Palais-Smale condition

In this part, let us note $P(u)=\|u\|^{p}, Q(u)=\int_{\Gamma} b(x)|u|^{q} d \sigma$ and $R(u)=\int_{\Omega} f(x)|u|^{r} d x$. The energy functional corresponding to $\left(\mathcal{P}_{\lambda}\right)$ is given by:

$$
\begin{equation*}
J_{\lambda}(u)=\frac{1}{p} P(u)-\frac{\lambda}{q} Q(u)-\frac{1}{r} R(u) . \tag{8}
\end{equation*}
$$

We denote by $N_{f}$ and $N_{b}$ the corresponding Nemytskii operators, i.e

$$
\begin{array}{rlrl}
N_{f}: \quad L^{r}\left(\Omega, \omega_{1}\right) & \longrightarrow L^{\frac{r}{r-1}}\left(\Omega, \omega_{1}^{\frac{1}{1-r}}\right) \text { and } N_{b}: L^{p}\left(\Gamma, \omega_{2}\right) & \longrightarrow L^{\frac{p}{p-1}}\left(\Gamma, \omega_{2}^{\frac{1}{1-p}}\right) \\
u & \longmapsto f(x)|u|^{r-2} u & u & \longmapsto b(x)|u|^{q-2} u
\end{array}
$$

Lemma 3. The two operators defined before are bounded and continuous.
Proof. We only prove the statement for $N_{f}$, since the arguments for $N_{b}$ are similar. Let $u$ in $L^{r}\left(\Omega, \omega_{1}\right)$. Then

$$
\int_{\Omega}\left(f(x)|u|^{r-1}\right)^{\frac{r}{r-1}} \omega_{1}^{\frac{1}{1-r}} d x \leq \int_{\Omega} k^{\frac{r}{1-r}}|u|^{r} \omega_{1} d x
$$

which shows that $N_{f}$ is bounded. The continuity of this operator follows from the usual properties of Nemytskii operators. Which ends the proof.

Lemma 4. The functional $J_{\lambda}$ is Fréchet-differentiable on $W$.
Proof. The directional derivative of $J_{\lambda}$ in direction $h$ in $W$ is given by:

$$
<J_{\lambda}^{\prime}(u), h>=\frac{1}{p}<P^{\prime}(u), h>-\frac{\lambda}{q}<Q^{\prime}(u), h>-\frac{1}{r}<R^{\prime}(u), h>,
$$

where

$$
\begin{aligned}
& <P^{\prime}(u), h>=p\left[\int_{\Omega}|\nabla u|^{p-2} \nabla u \nabla h d x+\int_{\Gamma} a(x)|u|^{p-2} u h d \sigma\right] \\
& <Q^{\prime}(u), h>=q \int_{\Gamma} b(x)|u|^{q-2} u h d \sigma,<R^{\prime}(u), h>=r \int_{\Omega} f(x)|u|^{r-2} u h d x
\end{aligned}
$$

$P^{\prime}$ is a continuous operator, then the operator $Q^{\prime}$ is the composition of

$$
Q^{\prime}: W \longrightarrow L^{p}\left(\Gamma, \omega_{2}\right) \xrightarrow{N_{b}} L^{\frac{p}{p-1}}\left(\Gamma, \omega_{2}^{\frac{1}{1-p}}\right) \xrightarrow{l} W^{\prime},
$$

with for any $v$ in $L^{\frac{p}{p-1}}\left(\Gamma, \omega_{2}^{\frac{1}{1-p}}\right)$ and $h$ in $W,<l(v), h>=\int_{\Gamma} v h d \sigma$. Furthermore, by the embedding of $W$ into $L^{p}\left(\Gamma, \omega_{2}\right)$, we get

$$
<l(v), h>\leq\left(\int_{\Gamma}|v|^{\frac{p}{p-1}} \omega_{2}^{\frac{1}{1-p}} d \sigma\right)^{1-\frac{1}{p}}\left(\int_{\Gamma}|h|^{p} \omega_{2} d \sigma\right)^{\frac{1}{p}}
$$

In a similar way, $R^{\prime}$ is the composition of

$$
R^{\prime}: W \longrightarrow L^{r}\left(\Omega, \omega_{1}\right) \xrightarrow{N_{f}} L^{\frac{r}{r-1}}\left(\Omega, \omega_{1}^{\frac{1}{1-r}}\right) \xrightarrow{l} W^{\prime},
$$

with, for any $v$ in $L^{\frac{r}{r-1}}\left(\Omega, \omega_{1}^{\frac{1}{1-r}}\right),\langle l(v), h\rangle=\int_{\Omega} v h d x$. The compact embeddings of $W$ into $L^{r}\left(\Omega, \omega_{1}\right)$ and $L^{p}\left(\Gamma, \omega_{2}\right)$ (see Remark 1) lead to that of $Q^{\prime}$ and $R^{\prime}$. The lemma is proved.

We introduce on $\mathbb{R} \times W$ the modified energy functional $\widetilde{J}_{\lambda}(c f .[10,19])$ defined by:

$$
\tilde{J}_{\lambda}(t, u):=J_{\lambda}(t u)
$$

Here, we recall that if $t(u)$ is a critical point for $t \longmapsto \widetilde{J}_{\lambda}(t, u)$ and $t(u)$ is smooth, then $t(u) u$ is a critical point for $J_{\lambda}$. By observing that the mapping $t \longmapsto \widetilde{J}_{\lambda}(t, u)$ is even, the study of critical points for $t \longmapsto \widetilde{J}_{\lambda}(t, u)$ can be restricted to $] 0, \infty[$.
Lemma 5. For any $u$ in $W \backslash\{0\}$, there exists a unique $\lambda(u)>0$ for which the functional $t \longmapsto \partial_{t} \tilde{J}_{\lambda(u)}(t, u)$ has a unique positive zero. Moreover for every $\lambda<\lambda(u)$ respectively $\lambda>\lambda(u), t \longmapsto \partial_{t} \tilde{J}_{\lambda}(t, u)$ has exactly two positive zero respectively no zero.

Proof. Let $u$ be an element in $W \backslash\{0\}$. We have $\partial_{t} \tilde{J}_{\lambda}(t, u)=t^{q-1} \tilde{E}_{\lambda}(t, u)$ where $\tilde{E}_{\lambda}(t, u)=t^{p-q} P(u)-\lambda Q(u)-t^{r-q} R(u)$ and observe that

$$
\left\{\begin{array} { l } 
{ \partial _ { t } \tilde { J } _ { \lambda } ( t , u ) = 0 } \\
{ \partial _ { t t } \tilde { J } _ { \lambda } ( t , u ) = 0 }
\end{array} \Longleftrightarrow \left\{\begin{array}{ll}
\tilde{E}_{\lambda}(t, u) & =0 \\
\partial_{t} \tilde{E}_{\lambda}(t, u)= & 0
\end{array}\right.\right.
$$

The second equation of the right hand side, $\partial_{t} \tilde{E}_{\lambda}(t, u)=0$, acquires the form

$$
\begin{equation*}
t^{p-q-1}\left((p-q) P(u)-(r-q) t^{r-p} R(u)\right)=0 \tag{9}
\end{equation*}
$$

and has one positive root

$$
\begin{equation*}
t(u)=\left[\frac{p-q}{r-q} \frac{P(u)}{R(u)}\right]^{\frac{1}{r-p}} . \tag{10}
\end{equation*}
$$

It follows from (9) that $t \longmapsto \tilde{E}_{\lambda}(t, u)$ attains its maximum at $t(u)$. Moreover, it is increasing on $] 0, t(u)[$, and decreasing on $] t(u),+\infty\left[\right.$. Substituting $t(u)$ into $\widetilde{E}_{\lambda}(t, u)$, we obtain

$$
\widetilde{E}_{\lambda}(t(u), u)=\frac{r-p}{r-q} P(u)\left[\frac{p-q}{r-q} \frac{P(u)}{R(u)}\right]^{\frac{p-q}{r-p}}-\lambda Q(u)
$$

and the number of roots of $t \longmapsto \widetilde{E}_{\lambda}(t, u)$ depends on the sign of $\widetilde{E}_{\lambda}(t(u), u)$. More precisely

$$
\left\{\begin{array}{l}
t \longmapsto \widetilde{E}_{\lambda}(t, u) \text { has two positive roots } \Longleftrightarrow \widetilde{E}_{\lambda}(t(u), u)>0, \\
t \longmapsto \widetilde{E}_{\lambda}(t, u) \text { has one positive root } \Longleftrightarrow \widetilde{E}_{\lambda}(t(u), u)=0, \\
t \longmapsto \widetilde{E}_{\lambda}(t, u) \text { has zero root } \Longleftrightarrow \widetilde{E}_{\lambda}(t(u), u)<0
\end{array}\right.
$$

We define now $\lambda(u)$ as the positive real number such that $\tilde{E}_{\lambda(u)}(t(u), u)=0$, i.e

$$
\begin{equation*}
\lambda(u)=\frac{r-p}{r-q}\left[\frac{p-q}{r-q} \frac{P(u)}{R(u)}\right]^{\frac{p-q}{r-p}} \frac{P(u)}{Q(u)}, \tag{11}
\end{equation*}
$$

and we have the following:

$$
\left\{\begin{array}{l}
t \longmapsto \widetilde{E}_{\lambda}(t, u) \text { has two positive roots } \Longleftrightarrow \lambda<\lambda(u), \\
t \longmapsto \widetilde{E}_{\lambda}(t, u) \text { has one positive root } \Longleftrightarrow \lambda=\lambda(u), \\
t \longmapsto \widetilde{E}_{\lambda}(t, u) \text { has zero root } \Longleftrightarrow \lambda>\lambda(u) .
\end{array}\right.
$$

The result is also true for the map $t \longmapsto \partial_{t} \widetilde{J}_{\lambda}(t, u)$.

Remark 2. For $\lambda<\lambda(u)$, denoting the positive roots of $t \longmapsto \partial_{t} \widetilde{J}_{\lambda}(t, u)$ by $\underline{t}(u, \lambda)$ and $\bar{t}(u, \lambda)(\underline{t}(u, \lambda)<t(u)<\bar{t}(u, \lambda))$. It results from

$$
\begin{aligned}
\partial_{t} \tilde{E}_{\lambda}(\underline{t}(u, \lambda), u) \underline{t}(u, \lambda)^{q+1-p} & =(p-q) P(u)-(r-q) \underline{t}(u, \lambda)^{r-p} R(u) \\
& >(p-q) P(u)-(r-q) t(u)^{r-p} R(u)=0,
\end{aligned}
$$

that $\partial_{t t} \tilde{J}_{\lambda}(\underline{t}(u, \lambda), u)>0$. In a similar way, we get $\partial_{t t} \tilde{J}_{\lambda}(\bar{t}(u, \lambda), u)<0$.
Remark 3. By the embedding results of $W$ into $L^{r}\left(\Omega, \omega_{1}\right)$ and $L^{p}\left(\Gamma, \omega_{2}\right)$, we find two positive constants $C_{\Omega}$ and $C_{\Gamma}$ such that

$$
R(u) \leq k C_{\Omega} P(u)^{\frac{r}{p}} \text { and } Q(u) \leq\|b\|_{L^{\frac{p-q}{p}}}^{\frac{p}{p-q}}\left(\Gamma, \omega_{2}^{\frac{q}{q-p}}\right) .
$$

We conclude that

$$
\begin{aligned}
\lambda(u) & =\frac{r-p}{r-q}\left[\frac{p-q}{r-q}\right]^{\frac{p-q}{r-p}}\left[\frac{P(u)^{\frac{r}{p}}}{R(u)}\right]^{\frac{p-q}{r-p}} \frac{P\left(u u^{\frac{q}{p}}\right.}{Q(u)} \\
& \geq \frac{r-p}{r-q}\left[\frac{p-q}{r-q}\right]^{\frac{p-q}{r-p}}\left[k C_{\Omega}\right]^{\frac{r-p}{p-q}}\|b\|_{L^{\frac{p}{p-q}}\left(\Gamma, \omega \omega_{2}^{\frac{p}{p}}\right.}^{\frac{q}{q-p}} C_{\Gamma}^{\frac{-q}{p}}>0 .
\end{aligned}
$$

Let us define

$$
\begin{equation*}
\hat{\lambda}=\inf _{u \in W \backslash\{0\}} \lambda(u) . \tag{12}
\end{equation*}
$$

We remark that $u \longmapsto \lambda(u)$ is an homogeneous function and consequently

$$
\begin{equation*}
\hat{\lambda}=\inf _{u \in \mathbb{S}} \lambda(u) \tag{13}
\end{equation*}
$$

where $\mathbb{S}$ is the unit sphere in $W$.
Lemma 6. There exist two positive constants $c_{4}$ and $c_{5}$ such that for any positive real number $t$ with $\partial_{t} \tilde{J}_{\lambda}(t, u)=0$ and for $u$ in $W \backslash\{0\}$, we have

$$
J_{\lambda}(t u) \geq c_{4} P(t u)-c_{5}
$$

Proof. Let $t>0$. From $\partial_{t} \tilde{J}_{\lambda}(t, u)=0$, we get
$R(t u)=P(t u)-\lambda Q(t u)$ which yields $J_{\lambda}(t u)=\left(\frac{1}{p}-\frac{1}{r}\right) P(t u)-\lambda\left(\frac{1}{q}-\frac{1}{r}\right) Q(t u)$.
Furthermore, invoking Young's inequality, we have

$$
\begin{aligned}
Q(t u) & \leq\|b\|_{L^{\frac{p-q}{p-q}}}^{\left.\frac{p, \Gamma, \omega_{2}^{\frac{q}{q-p}}}{}\right)} C_{\Gamma}^{\frac{q}{p}} P(t u)^{\frac{q}{p}} \\
& \leq\|b\|_{L^{\frac{p-q}{p}}}^{\frac{p}{p-q}}\left(\Gamma, \omega_{2}^{\frac{q}{q-p}}\right)
\end{aligned}\left(\frac{q}{p} \varepsilon^{\frac{p}{q}} P(t u)+C_{\Gamma}^{\frac{q}{p-q}} \varepsilon^{\frac{p}{q-p}}\right),
$$

where $\varepsilon>0$ is an arbitrary real number. It follows that

$$
\begin{aligned}
J_{\lambda}(t u) & \geq\left(\frac{1}{p}-\frac{1}{r}-\lambda\left(\frac{1}{q}-\frac{1}{r}\right) \frac{q}{p}\|b\|_{\left.L^{\frac{p}{p-q}\left(\Gamma, \omega_{2}^{\frac{p}{q}-p}\right.}\right)}^{\frac{q-q}{\frac{p}{q}}} \varepsilon^{\frac{p}{q}}\right) P(t u) \\
& -\lambda\left(\frac{1}{q}-\frac{1}{r}\right)\|b\|_{L^{\frac{p}{p-q}}\left(\Gamma, \omega_{2}^{\frac{p}{q}-p}\right)}^{\frac{p-q}{\Gamma^{\frac{p}{q}}} \varepsilon^{\frac{p}{q-p}} .}
\end{aligned}
$$

The proof is achieved.

Let us define for $\lambda \in] 0, \hat{\lambda}[$,

$$
\begin{align*}
& \underline{\alpha}(\lambda)=\inf _{u \in W \backslash\{0\}} \tilde{J}_{\lambda}(\underline{t}(u, \lambda), u),  \tag{14}\\
& \bar{\alpha}(\lambda)=\inf _{u \in W \backslash\{0\}} \tilde{J}_{\lambda}(\bar{t}(u, \lambda), u) . \tag{15}
\end{align*}
$$

Lemma 7. For any $\lambda \in] 0, \hat{\lambda}[$, we have

$$
\begin{equation*}
\underline{\alpha}(\lambda)=\inf _{u \in \mathbb{S}} \tilde{J}_{\lambda}(\underline{t}(u, \lambda), u), \quad \bar{\alpha}(\lambda)=\inf _{u \in \mathbb{S}} \tilde{J}_{\lambda}(\bar{t}(u, \lambda), u), \tag{16}
\end{equation*}
$$

where $\mathbb{S}$ is the unit sphere in $W$.
Proof.. For any real number $\gamma>0$, we have

$$
\left\{\begin{aligned}
\tilde{J}_{\lambda}\left(\gamma t, \frac{u}{\gamma}\right) & =\tilde{J}_{\lambda}(t, u) \\
\partial_{t} \tilde{J}_{\lambda}\left(\gamma t, \frac{u}{\gamma}\right) & =\frac{1}{\gamma} \partial_{t} \tilde{J}_{\lambda}(t, u) \\
\partial_{t t} \tilde{J}_{\lambda}\left(\gamma t, \frac{u}{\gamma}\right) & =\frac{1}{\gamma^{2}} \partial_{t t} \tilde{J}_{\lambda}(t, u)
\end{aligned}\right.
$$

We shall prove the result for $\underline{\alpha}(\lambda)$ (similar argument for $\bar{\alpha}(\lambda)$ ).
By the characterization of the positive real number $\underline{t}(u, \lambda)$ (see Remark 2), it holds

$$
\underline{t}\left(\frac{u}{\gamma}, \lambda\right)=\gamma \underline{t}(u, \lambda)
$$

Therefore,

$$
\tilde{J}_{\lambda}(\underline{t}(u, \lambda), u)=\tilde{J}_{\lambda}\left(\gamma \underline{t}(u, \lambda), \frac{u}{\gamma}\right)=\tilde{J}_{\lambda}\left(\underline{t}\left(\frac{u}{\gamma}, \lambda\right), \frac{u}{\gamma}\right)
$$

for any $u$ in $W \backslash\{0\}$ and the result is proved by taking $\gamma=\|u\|$.
Lemma 8. Let $\lambda \in] 0, \widehat{\lambda}[$. Then
(i) there exist $\left\{u_{n}\right\}_{n \geq 1},\left\{v_{n}\right\}_{n \geq 1}$ in $\mathbb{S}$ such that

$$
\left\{\begin{array}{l}
\underline{\mathcal{J}}_{\lambda}\left(u_{n}\right) \rightarrow \underline{\alpha}(\lambda) \text { as } n \rightarrow+\infty, \\
\forall \varphi \in T_{u_{n}} \mathbb{S}, \underline{\mathcal{J}}_{\lambda}^{\prime}\left(u_{n}\right)(\varphi) \leq \frac{1}{n}\|\varphi\|,
\end{array},\left\{\begin{array}{l}
\overline{\mathcal{J}}_{\lambda}\left(v_{n}\right) \rightarrow \bar{\alpha}(\lambda) \text { as } n \rightarrow+\infty \\
\forall \varphi \in T_{v_{n}} \mathbb{S}, \overline{\mathcal{J}}_{\lambda}^{\prime}\left(v_{n}\right)(\varphi) \leq \frac{1}{n}\|\varphi\|
\end{array}\right.\right.
$$

$\underline{\text { where }}^{\underline{\mathcal{J}}_{\lambda}}$ and $\overline{\mathcal{J}}_{\lambda}$ are the functionals defined on $\mathbb{S}$ by $\underline{\mathcal{J}}_{\lambda}(u)=J_{\lambda}(\underline{t}(u, \lambda) u)$ and $\overline{\mathcal{J}}_{\lambda}(u)=J_{\lambda}(\bar{t}(u, \lambda) u)$.
(ii) For any $u \in W \backslash\{0\}, \tilde{J}_{\lambda}(\underline{t}(u, \lambda), u)<0$ and $t \longmapsto \tilde{J}_{\lambda}(t, u)$ is increasing on $] \underline{t}(u, \lambda), \bar{t}(u, \lambda)[$.
(iii) $\liminf _{n \rightarrow+\infty}\left\|\underline{t}\left(u_{n}, \lambda\right) u_{n}\right\|>0$ and $\liminf _{n \rightarrow+\infty}\left\|\bar{t}\left(u_{n}, \lambda\right) u_{n}\right\|>0$.

Proof. We start by proving the first assertion. By Remark 2 and by the implicit function theorem, it follows, for any $u \in W \backslash\{0\}$, that $\underline{t}(u, \lambda)$ is a $\mathcal{C}^{1}$ function with respect to its first variable $u$. Let us remember that the $\mathcal{C}^{1}$ functional defined on $\mathbb{S}$ by $\underline{\mathcal{J}}_{\lambda}(u)=\tilde{J}_{\lambda}(\underline{t}(u, \lambda), u)=J_{\lambda}(\underline{t}(u, \lambda) u)$ is bounded below. Therefore, it satifies the Ekeland variational principle on the complete manifold $\mathbb{S}$, i.e there exists a sequence $\left\{u_{n}\right\}_{n \geq 1}$ in $\mathbb{S}$ such that

$$
\left\{\begin{array}{l}
\underline{\mathcal{J}}_{\lambda}\left(u_{n}\right) \rightarrow \underline{\alpha}(\lambda) \text { as } n \rightarrow+\infty \\
\forall \varphi \in T_{u_{n}} \mathbb{S}, \underline{\mathcal{J}}_{\lambda}^{\prime}\left(u_{n}\right)(\varphi) \leq \frac{1}{n}\|\varphi\|
\end{array}\right.
$$

Similar result can be proved with the point $\bar{t}(u, \lambda)$.
Here, we establish the point (ii). First, let us remember the two properties: $\tilde{E}_{\lambda}(\underline{t}(u, \lambda), u)=0$ and $t \longmapsto \tilde{E}_{\lambda}(t, u)$ is increasing on $] 0, t(u)[$, which together with $0<\underline{t}(u, \lambda)<t(u)$, imply that $\widetilde{E}_{\lambda}(t, u)<0$ on $] 0, \underline{t}(u, \lambda)[$ and $>0$ on $] \underline{t}(u, \lambda), t(u)[$. Taking into account that $\partial_{t} \widetilde{J}_{\lambda}(t, u)=t^{q-1} \widetilde{E}_{\lambda}(t, u)$, we conclude that $t \longmapsto \widetilde{J}_{\lambda}(t, u)$ is decreasing on $] 0, \underline{t}(u, \lambda)[$ and increasing on $] \underline{t}(u, \lambda), t(u)\left[\right.$, and hence $\tilde{J}_{\lambda}(\underline{t}(u, \lambda), u)<0$. For the second, we have also the two properties: $\tilde{E}_{\lambda}(\bar{t}(u, \lambda), u)=0$ and $t \longmapsto \tilde{E}_{\lambda}(t, u)$ is decreasing on $] t(u),+\infty\left[\right.$, which together with $\bar{t}(u, \lambda)>t(u)$, give us $\widetilde{E}_{\lambda}(t, u)>0$ on $] t(u), \bar{t}(u, \lambda)\left[\right.$. At the same time, $\widetilde{E}_{\lambda}(t, u)>0$ on $\left.] \underline{t}(u, \lambda), t(u)\right]$. Therefore $t \longmapsto \tilde{J}_{\lambda}(t, u)$ is increasing on $\left.] \underline{t}(u, \lambda)\right], \bar{t}(u, \lambda)[$ and the proof is complete.
Arguing by contradiction in order to prove the last assertion. If the first point is not true, then for any $n \geq 1$, there exists a subsequence of $\left\{u_{n}\right\}_{n \geq 1}$, still denoted by $\left\{u_{n}\right\}_{n \geq 1}$, such that $\left\|\underline{t}\left(u_{n}, \lambda\right) u_{n}\right\| \rightarrow 0$.
It follows that $\widetilde{J}_{\lambda}\left(\underline{t}\left(u_{n}, \lambda\right), u_{n}\right) \rightarrow 0$ as $n \rightarrow+\infty$ and $\underline{\alpha}(\lambda)=0$. The contradiction comes now from the fact that $\inf _{u \in W \backslash\{0\}} \widetilde{J}_{\lambda}(\underline{t}(u, \lambda), u)=0$ and $\widetilde{J}_{\lambda}(\underline{t}(u, \lambda), u)<0$.
For the second, we consider for any $n \geq 1$, a subsequence of $\left\{u_{n}\right\}_{n \geq 1}$, still denoted by $\left\{u_{n}\right\}_{n \geq 1}$, such that $\left\|\bar{t}\left(u_{n}, \lambda\right) u_{n}\right\| \rightarrow 0$. ¿From $\partial_{t} \widetilde{J}_{\lambda}\left(\bar{t}\left(u_{n}, \lambda\right), u_{n}\right)=0$ and $\partial_{t t} \widetilde{J}_{\lambda}\left(\bar{t}\left(u_{n}, \lambda\right), u_{n}\right)<0$, it results

$$
\left\{\begin{array}{l}
P\left(\bar{t}\left(u_{n}, \lambda\right) u_{n}\right)-\lambda Q\left(\bar{t}\left(u_{n}, \lambda\right) u_{n}\right)-R\left(\bar{t}\left(u_{n}, \lambda\right) u_{n}\right)=0 \\
(p-1) P\left(\bar{t}\left(u_{n}, \lambda\right) u_{n}\right)-\lambda(q-1) Q\left(\bar{t}\left(u_{n}, \lambda\right) u_{n}\right)-(r-1) R\left(\bar{t}\left(u_{n}, \lambda\right) u_{n}\right)<0
\end{array}\right.
$$

which give

$$
(p-q) P\left(\bar{t}\left(u_{n}, \lambda\right) u_{n}\right) \leq(r-q) R\left(\bar{t}\left(u_{n}, \lambda\right) u_{n}\right)
$$

Combining it with the compactness of the embedding of $W$ into $L^{r}\left(\Omega, \omega_{1}\right)$, we find

$$
(p-q) P\left(\bar{t}\left(u_{n}, \lambda\right) u_{n}\right) \leq(r-q) k C_{\Omega} P\left(\bar{t}\left(u_{n}, \lambda\right) u_{n}\right)^{\frac{r}{p}},
$$

and hence,

$$
(p-q) \leq(r-q) k C_{\Omega} P\left(\bar{t}\left(u_{n}, \lambda\right) u_{n}\right)^{\frac{r}{p}-1} \rightarrow 0 \text { as } n \rightarrow+\infty .
$$

This contradicts $q<p$. The proof is complete.
Before proving that $\left\{\underline{t}\left(u_{n}, \lambda\right) u_{n}\right\}_{n \geq 1}$ and $\left\{\bar{t}\left(u_{n}, \lambda\right) u_{n}\right\}_{n \geq 1}$ are Palais-Smale sequences for the functionals $J_{\lambda}(\underline{t}(u, \lambda) u)$ and $J_{\lambda}(\bar{t}(u, \lambda) u)$ respectively, we establish a result which will be useful in the sequel.

Remark 4. We consider the mapping

$$
\begin{aligned}
\alpha: W \backslash\{0\} & \longrightarrow \mathbb{R}_{+}^{*} \times \mathbb{S} \\
u & \longmapsto \alpha(u)=\left(\alpha_{1}(u), \alpha_{2}(u)\right)
\end{aligned}
$$

with $\left(\alpha_{1}(u), \alpha_{2}(u)\right)=\left(\|u\|, \frac{u}{\|u\|}\right)$.
Let $\varphi \in W$ be arbitrary choosen. The real number

$$
\begin{aligned}
& \alpha_{1}^{\prime}(u)(\varphi)=\|u\|^{1-p}\left(\int_{\Omega}|\nabla u|^{p-2} \nabla u \nabla \varphi d x+\int_{\Gamma} a(x)|u|^{p-2} u \varphi d \sigma\right) \\
& \leq\|u\|^{1-p}\left[\left(\int_{\Omega}|\nabla u|^{p} d x\right)^{\frac{p-1}{p}}\left(\int_{\Omega}|\nabla \varphi|^{p} d x\right)^{\frac{1}{p}}+\right. \\
&\left.\left(\int_{\Gamma} a(x)|u|^{p} d \sigma\right)^{\frac{p-1}{p}}\left(\int_{\Gamma} a(x)|\varphi|^{p} d \sigma\right)^{\frac{1}{p}}\right] \\
& \leq\|u\|^{1-p}\|u\|^{p-1}\|\varphi\|=\|\varphi\| .
\end{aligned}
$$

Next, $\alpha_{2}^{\prime}(u)(\varphi)$ belongs to $T_{u} \mathbb{S}$ and

$$
\alpha_{2}^{\prime}(u)(\varphi)=\frac{\varphi}{\|u\|}-\frac{u}{\|u\|^{2}} \alpha_{1}^{\prime}(u)(\varphi) \leq 2 \frac{\|\varphi\|}{\|u\|}
$$

Now, we are able to prove
Lemma 9. Let $\left\{u_{n}\right\}_{n \geq 1}$ be as above. The sequences $\left\{\underline{t}\left(u_{n}, \lambda\right) u_{n}\right\}_{n \geq 1}$ and $\left\{\bar{t}\left(u_{n}, \lambda\right) u_{n}\right\}_{n \geq 1}$ are Palais-Smale sequences for the functionals $J_{\lambda}(\underline{t}(u, \lambda) u)$ and $J_{\lambda}(\bar{t}(u, \lambda) u)$ respectively.

Proof. We only establish the statement for $J_{\lambda}(\underline{t}(u, \lambda) u)$, the arguments are similar for $J_{\lambda}(\bar{t}(u, \lambda) u)$. Since $\underline{\mathcal{J}}_{\lambda}\left(u_{n}\right)=J_{\lambda}\left(\underline{t}\left(u_{n}, \lambda\right) u_{n}\right) \rightarrow \underline{\alpha}(\lambda)$ as $n \rightarrow \infty$, then it remains to prove that $\left\|J_{\lambda}^{\prime}\left(\underline{t}\left(u_{n}, \lambda\right) u_{n}\right)\right\|_{*} \rightarrow 0$ as $n \rightarrow \infty$, where $\|.\|_{*}$ denotes the norm on the dual space $W^{\prime}$.
Let us remember that for any $\psi$ in $T_{u_{n}} \mathbb{S}$,

$$
\begin{align*}
\left|\underline{\mathcal{J}}_{\lambda}^{\prime}\left(u_{n}\right)(\psi)\right| & =\left|\partial_{t} \tilde{J}_{\lambda}\left(\underline{t}\left(u_{n}, \lambda\right), u_{n}\right) \underline{t^{\prime}}\left(u_{n}, \lambda\right)(\psi)+\partial_{u} \tilde{J}_{\lambda}\left(\underline{t}\left(u_{n}, \lambda\right), u_{n}\right)(\psi)\right| \\
& =\left|\partial_{u} \tilde{J}_{\lambda}\left(\underline{t}\left(u_{n}, \lambda\right), u_{n}\right)(\psi)\right| \leq \frac{1}{n}\|\psi\|, \tag{17}
\end{align*}
$$

where $\underline{t}^{\prime}\left(u_{n}, \lambda\right)$ denotes the derivative of $\underline{t}(., \lambda)$ with respect to its first variable at the point $\left(u_{n}, \lambda\right)$.
Considering $\underline{v}_{n}=\underline{t}\left(u_{n}, \lambda\right) u_{n}$, from $u_{n} \in \mathbb{S}$, we get

$$
J_{\lambda}\left(\underline{v}_{n}\right)=\widetilde{J}_{\lambda}\left(\underline{t}\left(u_{n}, \lambda\right), u_{n}\right)=\widetilde{J}_{\lambda}\left(\left\|\underline{v}_{n}\right\|, \frac{\underline{v}_{n}}{\left\|\underline{v}_{n}\right\|}\right)=\widetilde{J}_{\lambda} \circ \alpha\left(\underline{v}_{n}\right) .
$$

Therefore, for any $\varphi$ in $W$,

$$
\begin{aligned}
\left|J_{\lambda}^{\prime}\left(\underline{t}\left(u_{n}, \lambda\right) u_{n}\right)(\varphi)\right| & =\left|J_{\lambda}^{\prime}\left(\underline{v}_{n}\right)(\varphi)\right| \\
& =\left|\partial_{t} \tilde{J}_{\lambda}\left(\alpha\left(\underline{v}_{n}\right)\right) \alpha_{1}^{\prime}\left(\underline{v}_{n}\right)(\varphi)+\partial_{u} \widetilde{J}_{\lambda}\left(\alpha\left(\underline{v}_{n}\right)\right)\left(\alpha_{2}^{\prime}\left(\underline{v}_{n}\right)(\varphi)\right)\right| \\
& =\left|\partial_{u} \widetilde{J}_{\lambda}\left(\underline{t}\left(u_{n}, \lambda\right), u_{n}\right)\left(\varphi_{n}^{2}\right)\right|=\left|\mathcal{J}_{\lambda}^{\prime}\left(u_{n}\right)\left(\varphi_{n}^{2}\right)\right|,
\end{aligned}
$$

with $\varphi_{n}^{2}=\alpha_{2}^{\prime}\left(\underline{t}\left(u_{n}, \lambda\right), u_{n}\right)(\varphi)$ belongs to $T_{u_{n}} \mathbb{S}$. By virtue of Remark 4, we have

$$
\left\|\varphi_{n}^{2}\right\|=\left\|\alpha_{2}^{\prime}\left(\underline{t}\left(u_{n}, \lambda\right), u_{n}\right)(\varphi)\right\| \leq 2 \frac{\|\varphi\|}{\left\|\underline{v}_{n}\right\|}=2 \frac{\|\varphi\|}{\underline{t}\left(u_{n}, \lambda\right)}
$$

and by the last assertion of Lemma 8 , the sequence $\left\{\underline{t}\left(u_{n}, \lambda\right)\right\}_{n \geq 1}$ is bounded below by a positive constant $c(\lambda)$. Consequently, for all $n \in \mathbb{N}$, we get from (17)

$$
\left\lvert\, J_{\lambda}^{\prime}\left(\left(\underline{t}\left(u_{n}, \lambda\right) u_{n}\right)(\varphi) \left\lvert\, \leq \frac{2}{n} \frac{\|\varphi\|}{c(\lambda)}\right.\right.\right.
$$

and the proof is complete.
In this section, we verify that the functional $J_{\lambda}$ satisfies the Palais-Smale condition. In order to do this, we need the following lemma:

Lemma 10. (cf. Diaz [9], Lemma 4.10) Let $x, y \in \mathbb{R}^{N}$. If $p \geq 2$, then it holds:

$$
\begin{equation*}
|x-y|^{p} \leq C\left(|x|^{p-2} x-|y|^{p-2} y\right)(x-y) . \tag{18}
\end{equation*}
$$

If $1<p<2$, then it holds:

$$
\begin{equation*}
|x-y|^{2} \leq C\left(|x|^{p-2} x-|y|^{p-2} y\right)(x-y)(|x|+|y|)^{2-p} . \tag{19}
\end{equation*}
$$

Now, we may state the main result of this section.
Theorem 1. Let $1<q<p<r<2^{*}$ and $\left.\lambda \in\right] 0, \hat{\lambda}\left[\right.$. Then the problem $\left(\mathcal{P}_{\lambda}\right)$ has at least two nonnegative weak solutions.

Proof. We must show the existence of a subsequence of $\left\{\underline{t}\left(u_{n}, \lambda\right) u_{n}\right\}_{n \geq 1}$ which converges strongly in $W$ (similar argument for $\left.\left\{\bar{t}\left(u_{n}, \lambda\right) u_{n}\right\}_{n \geq 1}\right)$. First, as a consequence of Lemma 6, the sequence $\left\{\underline{t}\left(u_{n}, \lambda\right) u_{n}\right\}_{n \geq 1}$ is bounded in $W$. Next, we show that $\left\{\underline{U}_{n}\right\}_{n \geq 1}=\left\{\underline{t}\left(u_{n}, \lambda\right) u_{n}\right\}_{n \geq 1}$ is a Cauchy sequence. In the case $p \geq 2$, we obtain:

$$
\begin{aligned}
\left\|\underline{U}_{n}-\underline{U}_{k}\right\|^{p} & =\int_{\Omega}\left|\nabla\left(\underline{U}_{n}-\underline{U}_{k}\right)\right|^{p} d x+\int_{\Gamma} a(x)\left|\underline{U}_{n}-\underline{U}_{k}\right|^{p} d \sigma \\
& \leq C\left(<J_{\lambda}^{\prime}\left(\underline{U}_{n}\right), \underline{U}_{n}-\underline{U}_{k}>-<J_{\lambda}^{\prime}\left(\underline{U}_{k}\right), \underline{U}_{n}-\underline{U}_{k}>\right) \\
& +\frac{\lambda}{q}<Q^{\prime}\left(\underline{U}_{n}\right)-Q^{\prime}\left(\underline{U}_{k}\right), \underline{U}_{n}-\underline{U}_{k}>+\frac{1}{r}<R^{\prime}\left(\underline{U}_{n}\right)-R^{\prime}\left(\underline{U}_{k}\right), \underline{U}_{n}-\underline{U}_{k}> \\
& \leq C\left(\left\|J_{\lambda}^{\prime}\left(\underline{U}_{n}\right)\right\|_{*}+\left\|J_{\lambda}^{\prime}\left(\underline{U}_{k}\right)\right\|_{*}+\frac{\lambda}{q}\left\|Q^{\prime}\left(\underline{U}_{n}\right)-Q^{\prime}\left(\underline{U}_{k}\right)\right\|_{*}\right. \\
& \left.+\frac{1}{r}\left\|R^{\prime}\left(\underline{U}_{n}\right)-R^{\prime}\left(\underline{U}_{k}\right)\right\|_{*}\right)\left\|\underline{U}_{n}-\underline{U}_{k}\right\| .
\end{aligned}
$$

Now, from $\left\|J_{\lambda}^{\prime}\left(\underline{U}_{n}\right)\right\|_{*} \rightarrow 0$ as $n \rightarrow \infty$, we obtain, using the compactness of $Q^{\prime}$ and $R^{\prime}$, the existence of a subsequence of $\left\{\underline{U}_{n}\right\}_{n \geq 1}$, still denoted by $\left\{\underline{U}_{n}\right\}_{n \geq 1}$, that converges strongly to $\underline{U}$ in $W$.

For $1<p<2$, invoking (19) and Hölder's inequality, we get:

$$
\begin{align*}
& {\left[\int_{\Omega}\left|\nabla\left(\underline{U}_{n}-\underline{U}_{k}\right)\right|^{p} d x\right]^{\frac{2}{p}}} \\
& \leq C\left[\int_{\Omega}\left[\left(\left|\nabla \underline{U}_{n}\right|^{p-2} \nabla \underline{U}_{n}-\left|\nabla \underline{U}_{k}\right|^{p-2} \nabla \underline{U}_{k}\right)\left(\nabla \underline{U}_{n}-\nabla \underline{U}_{k}\right)\right]^{\frac{p}{2}}\right. \\
& \left.\quad\left[\left|\nabla \underline{U}_{n}\right|+\left|\nabla \underline{U}_{k}\right|\right]^{\frac{p(2-p)}{2}} d x\right]^{\frac{2}{p}} \\
& \quad \leq C\left[\int_{\Omega}\left[\left(\left|\nabla \underline{U}_{n}\right|^{p-2} \nabla \underline{U}_{n}-\left|\nabla \underline{U}_{k}\right|^{p-2} \nabla \underline{U}_{k}\right)\left(\nabla \underline{U}_{n}-\nabla \underline{U}_{k}\right)\right] d x\right]^{\frac{2-p}{p}} \\
& \tag{20}
\end{align*}
$$

Similarly,

$$
\begin{align*}
{\left[\int_{\Gamma} a(x)\left|\underline{U}_{n}-\underline{U}_{k}\right|^{p} d \sigma\right]^{\frac{2}{p}} } & \leq C\left[\int_{\Gamma} a(x)\left[\left(\left|\underline{U}_{n}\right|^{p-2} \underline{U}_{n}-\left|\underline{U}_{k}\right|^{p-2} \underline{U}_{k}\right)\left(\underline{U}_{n}-\underline{U}_{k}\right)\right] d \sigma\right] \\
& \times\left[\int_{\Omega}\left[\left|\underline{U}_{n}\right|+\left|\underline{U}_{k}\right|\right]^{p} d x\right]^{\frac{2-p}{p}} . \tag{21}
\end{align*}
$$

By the boundeness of the sequence $\left\{\underline{U}_{n}\right\}_{n \geq 1}$ and by the Young inequality, we can find a constant $C_{3}>0$ such that

$$
\begin{array}{r}
\left\|\underline{U}_{n}-\underline{U}_{k}\right\|^{2} \leq 2^{\frac{2}{p}-1}\left(\left[\int_{\Omega}\left|\nabla\left(\underline{U}_{n}-\underline{U}_{k}\right)\right|^{p} d x\right]^{\frac{2}{p}}+\left[\int_{\Gamma} a(x)\left|\underline{U}_{n}-\underline{U}_{k}\right|^{p} d \sigma\right]^{\frac{2}{p}}\right) \\
\leq 2 C_{3}\left[<J_{\lambda}^{\prime}\left(\underline{U}_{n}\right)-J_{\lambda}^{\prime}\left(\underline{U}_{k}\right), \underline{U}_{n}-\underline{U}_{k}>\right. \\
\quad+\frac{\lambda}{q}<Q^{\prime}\left(\underline{U}_{n}\right)-Q^{\prime}\left(\underline{U}_{k}\right), \underline{U}_{n}-\underline{U}_{k}> \\
\left.\quad+\frac{1}{r}<R^{\prime}\left(\underline{U}_{n}\right)-R^{\prime}\left(\underline{U}_{k}\right), \underline{U}_{n}-\underline{U}_{k}>\right] .
\end{array}
$$

By similar argument to the one used in the proof of the first case $p \geq 2$, we obtain the convergence of a subsequence of $\left\{\underline{U}_{n}\right\}_{n \geq 1}$ to $\underline{U}$ in $W$, which leads, by the third assertion of Lemma 8 , to $0<\lim _{n \rightarrow+\infty}\left\|\underline{U}_{n}\right\|=\|\underline{U}\|$. Next, it follows from $J_{\lambda}\left(\underline{U}_{n}\right)=J_{\lambda}\left(\left|\underline{U}_{n}\right|\right)$ that the sequence $\left\{\underline{U}_{n}\right\}_{n \geq 1}$ can be repalced by the nonnegative one, $\left\{\left|\underline{U}_{n}\right|\right\}_{n \geq 1}$, and the existence of $|\underline{U}| \geq 0$ as a weak solution of $\left(\mathcal{P}_{\lambda}\right)$ is proved.

Remark 5. It results from the convergence of $\left\{\bar{U}_{n}\right\}_{n \geq 1}=\left\{\bar{t}\left(u_{n}, \lambda\right) u_{n}\right\}_{n \geq 1}$ to $\bar{U}$ in $W$ that $\bar{t}\left(u_{n}, \lambda\right)=\left\|\bar{U}_{n}\right\| \rightarrow\|\bar{U}\|>0$ as $n \rightarrow \infty$. By the caracterization of the positive real number $\bar{t}\left(u_{n}, \lambda\right)$ (see Remark 2), which together with $u_{n} \rightarrow \bar{u}=\frac{\bar{U}}{\|\bar{U}\|}$ as $n \rightarrow \infty$ give us $\bar{t}(\bar{u}, \lambda)=\|\bar{U}\|$.

## 4 Behaviour of the energy

In this section, we examine the behaviour of the energy of $\underline{U}$ and $\bar{U}$.
Theorem 2. Let $1<q<p<r<2^{*}$. Then
(i) $J_{\lambda}(\underline{U})<0$ for $\left.\lambda \in\right] 0, \hat{\lambda}[$
and

$$
\text { (ii) }\left\{\begin{array}{l}
\left.J_{\lambda}(\bar{U})>0 \text { for } \lambda \in\right] 0, \lambda_{0}[, \\
J_{\lambda}(\bar{U})=0 \text { for } \lambda=\lambda_{0}, \\
\left.J_{\lambda}(\bar{U})<0 \text { for } \lambda \in\right] \lambda_{0}, \widehat{\lambda}[
\end{array}\right.
$$

where $\lambda_{0}=\frac{q}{r}\left(\frac{r}{p}\right)^{\frac{r-q}{r-p}} \widehat{\lambda}$.
Proof. Note that (i) arises automatically from the second point of Lemma 8.
For (ii), let $u$ be an arbitrary element of $W \backslash\{0\}$ et let us write

$$
\widetilde{J}_{\lambda}(t, u)=t^{q} \widetilde{F}_{\lambda}(t, u) \text { where } \widetilde{F}_{\lambda}(t, u)=t^{p-q} \frac{P(u)}{p}-\frac{\lambda}{q} Q(u)-t^{r-q} \frac{R(u)}{r} .
$$

The equation $\partial_{t} \widetilde{F}_{\lambda}(t, u)=0$ acquires the form

$$
\begin{equation*}
t^{p-q-1}\left(\frac{p-q}{p} P(u)-\frac{r-q}{r} t^{r-p} R(u)\right)=0 \tag{22}
\end{equation*}
$$

and has one positive root

$$
\begin{equation*}
t_{0}(u)=\left(\frac{r}{p}\right)^{\frac{1}{r-p}}\left[\frac{p-q}{r-q} \frac{P(u)}{R(u)}\right]^{\frac{1}{r-p}}=\left(\frac{r}{p}\right)^{\frac{1}{r-p}} t(u) \tag{23}
\end{equation*}
$$

with $t(u)$ is defined by (10). We observe that for any real numbers $r, p$ such that $1<p<r,\left(\frac{r}{p}\right)^{\frac{1}{r-p}}>1$ and hence $t_{0}(u)>t(u)$.
It results from that (22) that $t \longmapsto \widetilde{F}_{\lambda}(t, u)$ attains its maximum at $t_{0}(u)$. Moreover, it is increasing on $] 0, t_{0}(u)$ [ and decreasing on $] t_{0}(u),+\infty[$.
Inserting $t_{0}(u)$ into $\widetilde{F}_{\lambda}(t, u)$, we get

$$
\widetilde{F}_{\lambda}\left(t_{0}(u), u\right)=\left[\frac{p-q}{r-q} \frac{P(u)}{R(u)}\right]^{\frac{p-q}{r-p}}\left(\frac{r}{p}\right)^{\frac{p-q}{r-p}} \frac{r-p}{p(r-q)} P(u)-\frac{\lambda}{q} Q(u),
$$

and the number of roots of $t \longmapsto \widetilde{F}_{\lambda}(t, u)$ depends on the sign of $\widetilde{F}_{\lambda}\left(t_{0}(u), u\right)$. More precisely,

$$
\left\{\begin{array}{l}
t \longmapsto \widetilde{F}_{\lambda}(t, u) \text { has two positive roots } \Longleftrightarrow \widetilde{F}_{\lambda}\left(t_{0}(u), u\right)>0, \\
t \longmapsto \widetilde{F}_{\lambda}(t, u) \text { has one positive root } \Longleftrightarrow \widetilde{F}_{\lambda}\left(t_{0}(u), u\right)=0, \\
t \longmapsto \widetilde{F}_{\lambda}(t, u) \text { has zero root } \Longleftrightarrow \widetilde{F}_{\lambda}\left(t_{0}(u), u\right)<0 .
\end{array}\right.
$$

We define now $\lambda_{0}(u)$ as the positive real number such that $\tilde{F}_{\lambda_{0}(u)}\left(t_{0}(u), u\right)=0$, i.e

$$
\lambda_{0}(u)=\frac{q}{r}\left(\frac{r}{p}\right)^{\frac{r-q}{r-p}} \lambda(u),
$$

where $\lambda(u)$ is defined by (11), and we have the following:

$$
\left\{\begin{array}{l}
\widetilde{F}_{\lambda}\left(t_{0}(u), u\right)>0 \Longleftrightarrow \lambda<\lambda_{0}(u), \\
\widetilde{F}_{\lambda}\left(t_{0}(u), u\right)=0 \Longleftrightarrow \lambda=\lambda_{0}(u), \\
\widetilde{F}_{\lambda}\left(t_{0}(u), u\right)<0 \Longleftrightarrow \lambda>\lambda_{0}(u)
\end{array}\right.
$$

Taking into account that $\widetilde{J}_{\lambda}(t, u)=t^{q} \widetilde{F}_{\lambda}(t, u)$, we obtain

$$
\left\{\begin{array}{l}
\widetilde{J}_{\lambda}\left(t_{0}(u), u\right)>0 \Longleftrightarrow \lambda<\lambda_{0}(u), \\
\widetilde{J}_{\lambda}\left(t_{0}(u), u\right)=0 \Longleftrightarrow \lambda=\lambda_{0}(u), \\
\widetilde{J}_{\lambda}\left(t_{0}(u), u\right)<0 \Longleftrightarrow \lambda>\lambda_{0}(u) .
\end{array}\right.
$$

We have to prove that $\lambda_{0}(u)<\lambda(u)$. To do this, let us introduce the decreasing function

$$
\begin{array}{ll}
] 0,1[ & \longrightarrow \mathbb{R} \\
t & \longmapsto \frac{-\ln t}{1-t}
\end{array}
$$

which permits us to conclude that

$$
\ln \frac{1}{x}>\frac{1-x}{1-y} \ln \frac{1}{y}
$$

for every real numbers $x, y$ such that $0<x<y<1$. In particular, taking $x=\frac{q}{r}$ and $y=\frac{p}{r}$, we get

$$
\frac{r}{q}>\left(\frac{r}{p}\right)^{\frac{r-q}{r-p}}
$$

and hence $\lambda_{0}(u)<\lambda(u)$. Consequently,

$$
\lambda_{0}:=\inf _{u \in W \backslash\{0\}} \lambda_{0}(u)<\hat{\lambda}
$$

The growth properties of $t \longmapsto \widetilde{F}_{\lambda_{0}(u)}(t, u)$ imply that $\partial_{t t} \widetilde{F}_{\lambda_{0}(u)}\left(t_{0}(u), u\right)<0$, which, together with $\widetilde{F}_{\lambda_{0}(u)}\left(t_{0}(u), u\right)=\partial_{t} \widetilde{F}_{\lambda_{0}(u)}\left(t_{0}(u), u\right)=0$ give us $\partial_{t} \widetilde{J}_{\lambda_{0}(u)}\left(t_{0}(u), u\right)=0$ and $\partial_{t t} \widetilde{J}_{\lambda_{0}(u)}\left(t_{0}(u), u\right)<0$. Using the caracterization of the positive real number $\bar{t}\left(u, \lambda_{0}(u)\right)$ (see Remark 2), we obtain

$$
\bar{t}\left(u, \lambda_{0}(u)\right)=t_{0}(u) .
$$

First, we show the first assertion of (ii). Fixing a $\lambda \in] 0, \lambda_{0}\left[\right.$, by the definition of $\lambda_{0}$, we have $\widetilde{J}_{\lambda}\left(t_{0}(u), u\right)>0$ for any $u \in W \backslash\{0\}$. On the other hand, $t \longmapsto \widetilde{J}_{\lambda}(t, u)$ attains its maximum at $\bar{t}(u, \lambda)$ therefore for any $u \underset{\widetilde{J}}{\in} W \backslash\{0\}, \widetilde{J}_{\lambda}(\bar{t}(u, \lambda), u) \geq$ $\widetilde{J}_{\lambda}\left(t_{0}(u), u\right)>0$ and according to Remark $5, J_{\lambda}(\bar{U})=\widetilde{J}_{\lambda}(\bar{t}(\bar{u}, \lambda), \bar{u})>0$.
For the case $\lambda=\lambda_{0}$, we have

$$
J_{\lambda_{0}}(\bar{U})=\widetilde{J}_{\lambda_{0}}\left(\bar{t}\left(\bar{u}, \lambda_{0}\right), \bar{u}\right)=\bar{\alpha}\left(\lambda_{0}\right):=\inf _{u \in \mathbb{S}} \widetilde{J}_{\lambda_{0}}\left(\bar{t}\left(u, \lambda_{0}\right), u\right)
$$

On the other hand, the lower semicontinuity of the functional defined on $W \backslash\{0\}$ by $u \longmapsto \frac{P(u)^{\frac{p-q}{r-p}+1}}{R(u)^{\frac{p-q}{r-p}} Q(u)}$ with

$$
\begin{aligned}
\lambda_{0} & =\frac{q}{r}\left(\frac{r}{p}\right)^{\frac{r-q}{r-p}} \frac{r-p}{r-q}\left[\frac{p-q}{r-q}\right]^{\frac{p-q}{r-p}} \inf _{u \in W \backslash\{0\}} \frac{P(u)^{\frac{p-q}{r-p}+1}}{R(u)^{\frac{p-q}{r-p}} Q(u)} \\
& =\frac{q}{r}\left(\frac{r}{p}\right)^{\frac{r-q}{r-p}} \frac{r-p}{r-q}\left[\frac{p-q}{r-q}\right]^{\frac{p-q}{r-p}} \quad \inf _{u \in W \backslash\{0\}, R(u)^{\frac{p-q}{r-p}} Q(u)=1} P(u)^{\frac{p-q}{r-p}+1}
\end{aligned}
$$

leads to the existence of $u^{*} \in W \backslash\{0\}$ such that $\lambda_{0}=\lambda_{0}\left(u^{*}\right)$. This implies that

$$
J_{\lambda_{0}}(\bar{U}) \leq \widetilde{J}_{\lambda_{0}\left(u^{*}\right)}\left(\bar{t}\left(u^{*}, \lambda_{0}\left(u^{*}\right)\right), u^{*}\right)=\widetilde{J}_{\lambda_{0}\left(u^{*}\right)}\left(t_{0}\left(u^{*}\right), u^{*}\right)=0 .
$$

Moreover, since $t \longmapsto \widetilde{J}_{\lambda_{0}}(t, \bar{u})$ attains its maximum at $\bar{t}\left(\bar{u}, \lambda_{0}\right)$ and $\lambda \longmapsto \widetilde{J}_{\lambda}(t, u)$ is a decreasing function on $\mathbb{R}_{+}^{*}$ then

$$
J_{\lambda_{0}}(\bar{U})=\widetilde{J}_{\lambda_{0}}\left(\bar{t}\left(\bar{u}, \lambda_{0}\right), \bar{u}\right) \geq \widetilde{J}_{\lambda_{0}}\left(t_{0}(\bar{u}), \bar{u}\right) \geq \widetilde{J}_{\lambda_{0}(\bar{u})}\left(t_{0}(\bar{u}), \bar{u}\right)=0 .
$$

Finally, assume that $\lambda_{0}<\lambda<\hat{\lambda}$. Since for any $u \in W \backslash\{0\}, J_{\lambda}(u)$ is a decreasing function with respect to $\lambda$, then $J_{\lambda}(\bar{U})<J_{\lambda_{0}}(\bar{U})=0$.

## References

[1] W. Allegretto, L. S. Yu, Positive $L^{p}$-solutions of subcritical nonlinear problems. J. Differ. Equations. 87, p.340-352, 1990.
[2] A. Ambrosetti, H. Brezis, G. Cerami, Combined effects of concave and convex nonlinearities in some elliptic problems. J. Funct. Anal. 122, p.519-543, 1994.
[3] A. Ambrosetti, J. G. Azerero, I. Peral, Multiplicity results for some nonlinear elliptic equations. J. Funct. Anal. 137, 219-242, 1996.
[4] J. G. Azorero, I. P. Alonzo, Existence and non-uniqueness for the p-Laplacian. Commun. Partial Differ. Equations. 12, 1389-1430, 1987.
[5] J. G. Azorero, I. P. Alonzo, Some results about the existence of a second positive solution in a quasilinear critical problem. Indiana Univ. Math. J. 43, p.941-957, 1994.
[6] J. G. Azorero, I. Peral, J. D. Rossi, A convex-concave problem with a nonlinear boundary condition. J. Differ. Equations (in press).
[7] J. F. Bonder, J. D. Rossi, Existence results for the p-Laplacian with nonlinear boundary conditions. J. Math. Anal. Appl. 263, No. 1, p.195-223, 2001.
[8] J. Chabrowski, B. Ruf, On the critical Neumann problem with weight in exterior domains. Nonlinear Analysis 54, p.143-163, 2003.
[9] J. I. Diaz, Nonlinear partial differential equation and free boundaries. Elliptic equations. Pitman Adv.Publ.,Boston etc, 1986.
[10] P. Drabek, S. Pohozaev, Positive solutions for the p-Laplacian: Application of the fibering method. Proc. Roy. Soc. Edinburg, vol. 127A, No.3, p.703-726, 1997.
[11] A. El Hamidi, Multiple solutions with changing sign energy to a nonlinear elliptic equation. Commun. Pure Appl. Anal. 3 (2004), no. 2, 253-265.
[12] A. Kufner, B. Opic, Hardy-type inequalities. New York, Wiley, 1985.
[13] S. Liu, S. Li, An elliptic equation with concave and convex nonlinearities. Nonlinear Analysis 53, p.723-731, 2003.
[14] S. Martinez, J. D. Rossi, Isolation and simplicity for the first eigenvalue of the p-Laplacian with a nonlinear boundary condition. Abstr. Appl. Anal. 7, No. 5, p.287-293, 2002.
[15] S. Martinez, J. D. Rossi, Weak solutions for the p-Laplacian with a nonlinear boundary condition at resonance. Electronic. J. Differ. Equations. 27, p.1-14, 2003.
[16] K. Pflüger, Existence and multiplicity of solutions to a p-Laplacian equation with nonlinear boundary condition. Electronic J. Differ. Equations. 10, p.1-13, 1998.
[17] K. Pflüger, Compact traces in weighted Sobolev spaces. Analysis, München 18, No.1, p.65-83, 1998.
[18] Y. L. Sen, Nonlinear p-Laplacian problems on unbounded domains. Proc. Am. Math. Soc. 115, p.1037-1045, 1992.
[19] M. Willem, Minimax theorems. Progress in Nonlinear Differential Equations and their Applications, 24. Birkhäuser Boston, Inc., Boston, MA, 1996.

Université de La Rochelle
Laboratoire de Mathématiques et Applications
Avenue Michel Crépeau, 17000 La Rochelle, France.
E-mail: aobeid@univ-lr.fr


[^0]:    Received by the editors march 2004.
    Communicated by P. Godin.
    1991 Mathematics Subject Classification : 34B15.
    Key words and phrases : Weighted Sobolev space, nonlinear boundary condition, Ekeland's principle, Palais-Smale condition.

